=]
=voTrscH

P E R F O R M A N C E

www.evotech-performance.com

Aprilia RSV4 Radiator Guard Set
Installation Instructions



®

Installation Instructions  —

Kit Contents PRN08163-008164

(A) 1 x Radiator Guard

1 x Oil Cooler Guard

(© 2 x Mounting Brackets

© 2 x Zip Ties

(B) 2 x M6 - 16 Socket Button Head Screw
(F) 2 x M6 - 25 Socket Button Head Screw
(@) 2 x M6 Washers

(H) 2 x M6 Special Washers

(D 4 x M4 - 10 Socket Button Head Screws
(D 4 x 5mm Neoprene

(K) 6 x 3mm Neoprene



Installation Instructions




Installation Instructions

Repeat
Both Sides

—




Installation Instructions

g
=

Repeat / & =
| BothSides |~ ,/ . /

o




Repeat
Both Sides




L
Installation Instructions

Repeat
1 Both Sides

e ——




Both Sides




Sy
# ;



Installation Instructions

e - —— ——




Installation Instructions

R




-

Installation Instructions 10 ==

/e

Repeat
Both Sides




Installation Instructions

Repeat
Both Sides

——




Installation Instructions

Repeat
Both Sides




E—

Installation Instructions

O)

.

Both Sides

.

- — y 2 3



- / / / Y~ A /
Installation Instructions

o

I\ -

~DER.
)

Repeat
Both Sides




Wi - A <

Installation Instructions

e

Repeat
Both Sides




S S

P———

Installation |

E

) Repeat
Both Sides




uctions

Y,

Repeat
Both Sides | -

R —







Installation Instructions

Repeat
Both Sides




Installation Instructions

— -

Repeat
Both Sides




Installation Instructions




Installation Instructions

III 3

Slide Plastic
& Remove













26

Installation Instructions




Installation Instructions




'I,
‘ Ensure the radiator guard
securely hooks over the
top lip of the radiator







———w R A2 2

InstaIIatlon In_structlons




3 R CLCLLECLLERT
ﬁfwmggwwewm
eRLe Q@

‘‘‘‘‘

”””””

o
™y



ilccecefiogeliopesy

L T T S, A S WL e T

Installation Instructions

. =

I T,/
UURA --'Jm_-'af-‘r'..iuu- ‘wd':L WW f

T T
GG q‘ui.‘.q:d'lJLL?y
Tmrmmmmm

"‘;!‘ﬂ1hia:f A
e ———

e rme
l AR --.'.i.l,lsﬂu';]?

Ui
AN

Vil




398

06
(3

- T pn ik QJ‘J“‘ s Hﬂ"f
L
AT A NAREOEE

A u
AT T ey ,
LAY \'lv:kr\r\r.":":\r\r.r"nvlr;"srsr;r.r Wy /

VAR RN AT
1 AR ;

T
RN




e kel |
Installation Instructions







|

Ensure Oil Cooler Guard
securely hooks under the
bottom lip of the cooler

| \\‘

—_—TET







Remove
Bolts

Caution

> . W vv. s BF § BT

|



Installation Instructions




Installation Instructions —7—4

R St
(( zj\ie{;e ages



ion Instructions

e =




Installation Instructions

Repeat
Both Sides




Installation Instructions —7—4

R St
(( 1 z\ie;se ages



Installation Instructions ——~— 4

A ESSENTIAL CHECKS A

It is recommended that periodic inspections are made to ensure
that dirt and debris have not become trapped between the guard
and the radiator/oil cooler. Such dirt and debris would reduce
the cooling efficiency of the radiator/oil cooler.

It is recommended that periodic inspections are made
to ensure that all fixings are fully tightend.



==
=Vc_|_==|—l

F O R M A N C E




